Esequire in colonna
3451,12 + 32288 + 24,651=
67014,5 + 44 + 390,76 =
56702,8 - 31012,39 =
40065 - 30321,13 =
80,16 X 0,4 =

B634 X 3,8 =

37,153 : 7,4 =

47943 . 68 =

16,112 : 53 =

149,04 : 4,6 =

Eseguire in colonna
3451,12 + 32288 + 24,651=
67014,5 + 44 + 390,76 =
56702,8 - 31012,39 =
40065 — 30321,13 =
80,16 X 0,4 =

563,4 X 3,8 =

37,153 : 7,4 =

47943 ; 68 =

16,112 : 53 =

149,04 : 4,6 =

Eseguire in colonna
3451,12 + 32288 + 24,651=
67014,5 + 44 + 390,76 =
56702,8 - 31012,39 =
40065 - 30321,13 =
80,16 X 0,4 =

563,4X 3,8 =

37,153 : 7,4 =

47943 : 68 =

16,112 : 53 =

149,04 : 4,6 =

Eseguire in colonna
3451,12 + 32288 + 24,651=
67014,5 + 44 + 390,76 =
56702,8 - 31012,39 =
40065 - 30321,13 =
80,16 X 0,4 =

563,4 X 3,8 =

37,153: 7,4 =

47943 : 68 =

16,112 : B3 =

149,04 : 4,6 =




